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o +of
= i
s I\I || il |||
@x i
0.5 ’
i ll l i
0.9
0 40 50 60 70 80
TP hits
——v, mm—mmmr—grm
—— Dt 7p|xelCP‘ETempTa|e step2 ttbar-phasel- new%
—— DQM pixelCPETemplateCutChiSquarel0_step2_ttbar-phasel-newgeom
—— DOM pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom
— —— DQM”pixelCPETemplateCutChiSquare20_step2_ttbar-phasel-newgeom
I Efficienc] —— b pixelCPETemplateCutChiSquare30_step2_ttbar-phasel-newgeom
Py
»w 0.2p
b4
[ E
Z0.18F
1 o
>0.16F
g F
c
& 0.14F
1] F
£ 0.12F
@ o
0.1
0.08F
0.06F
0.04F
0.02F
o ¢
T 1.05
o
h!
0.95] 5
09 . 1| :
0 20 25

TP layers

Efficiency vs pixel layer

 0.05¢
£ 0.05

0 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

0 0.05
o
D.045
S0.04
w
g).oss
§0.03]
Qo
£.025
0.02
0.015
0.0}
0.005

10
11
j!
0.9F{-1---t KRR
0'"U 2 4 6 8 10 12 14 16 18 20

TP 3D layers

1

R LN Ll L) ) LR LR LA L

Ratio




	Contents
	Page 1


